

COMPACT EVOLUTION OPERATORS

N.H. PAVEL

Department of Mathematics, Ohio University, Athens, Ohio 45701 USA

(Submitted by G. Webb)

In this paper, we give a characterization of compactness of the Evolution Operator $U(t, s)$ generated by a family of nonlinear (possibly multivalued) operators $\{A(t), 0 \leq t \leq T\}$ of dissipative type. This is an extension of a result of Brezis [2] on the compactness of the semigroup $S_A(t)$ generated by an m -dissipative operator A via the exponential formula of Crandall-Liggett [3].

1. Preliminaries. Statements of the results. Let X be a real Banach space of norm $\| \cdot \|$. Recall some notations and definitions (for details we refer to [6], [7]).

$$\langle y, x \rangle_{\bar{s}} = \lim_{h \downarrow 0} \frac{\|x + hy\|^2 - \|x\|^2}{2h}, \quad \langle y, x \rangle_+ = \lim_{h \downarrow 0} \frac{\|x + hy\| - \|x\|}{h}, \quad (1.1)$$

$$\langle y, x \rangle_i = \lim_{h \downarrow 0} \frac{\|x + hy\|^2 - \|x\|^2}{2h}, \quad \langle y, x \rangle_- = \lim_{h \downarrow 0} \frac{\|x + hy\| - \|x\|}{h}, \quad (1.2)$$

where x and y are elements of X . Clearly,

$$\langle y, x \rangle_{\bar{s}} = \|x\| \langle y, x \rangle_+; \quad \langle y, x \rangle_i = \|x\| \langle y, x \rangle_-; \quad \langle y, x \rangle_+ = \frac{\|x + hy\| - \|x\|}{h}, \quad h > 0.$$

It is known that

$$\langle y, x \rangle_{\bar{s}} = \sup\{x^*(y); x^* \in J(x)\}, \quad \langle y, x \rangle_i = \inf\{x^*(y); x^* \in J(x)\}, \quad (1.3)$$

where J is the duality mapping of X .

Now, let $\{A(t); 0 \leq t \leq T\}$ be a family of nonlinear (possibly multivalued) operators $A(t) : D(A(t)) \subset X \rightarrow 2^X$ satisfying the hypotheses

(C1) $R(I - hA(t)) = X$, for all $h > 0$ and $t \in [0, T]$

(C2) There are two continuous functions $f : [0, T] \rightarrow X$ and $L : R_+ \rightarrow R_+$ such that

$$\langle y_1 - y_2, x_1 - x_2 \rangle_i \leq \|f(t) - f(s)\| \|x_1 - x_2\| L(\max\{\|x_1\|, \|x_2\|\})$$

for all $0 \leq s \leq t \leq T$, $[x_1, y_1] \in A(t)$ and $[x_2, y_2] \in A(s)$

(C3) If $t_n \uparrow t$, $x_n \in D(A(t_n))$ and $x_n \rightarrow x$, then $x \in \overline{D(A(t))}$.

Received February 24, 1988.

AMS Subject Classifications: 47H06, 47H99.

A few comments on the above conditions: (C1) is the well-known "Range Condition". It can be replaced by (a more general condition)

$$(C1)' \quad R(I - hA(t+h)) \supset \overline{D(A(t))}, \quad 0 < h < T - t, \quad t \in [0, T]$$

where I is the identity on X (as in (C1)).

Another useful condition which is, in its turn, strictly more general than (C1)', is the following tangential condition

$$(C1)'' \quad \lim_{h \downarrow 0} h^{-1} d[x; R(I - hA(t+h))] = 0, \quad x \in \overline{D(A(t))}, \quad s \leq t < T$$

which has been considered by the author in [5]. It is interesting to note that (BBM) equation

$$u_t + u_x + uu_x - u_{xxt} = 0$$

can be reduced to an abstract differential equation

$$u'(t) = A(t)u(t), \quad u(s) = x_0 \in \overline{D(A(s))} \quad (1.4)$$

with some $A(t)$ satisfying tangential condition (C1)'' and (C2) but not the range condition (C1)'. This fact is carried out by Oharu and Takahashi [4]. We have also to note that (C1) and (C2) imply $\overline{D(A(t))}$ is independent of t ([7], Ch.1, Remark 4.2) while (C1)'' and (C2) do not ([7] Ch.3, Section 2). Obviously, for $t = s$, (C2) implies the dissipativity of each $A(t)$. Therefore (C1) and (C2) imply the m -dissipativity of each $A(t)$ so $\overline{D(A(t))}$ is independent of t . This is the case in which we are working here. Recall that if $A(t)$ satisfies (C1)–(C3), then for every

$$0 \leq s \leq t \leq T, \quad x_0 \in \overline{D(A(s))} \quad \text{and} \quad x_0^n \in D(A(s)) \quad \text{with} \quad x_0^n \rightarrow x_0,$$

$$\lim_{n \rightarrow \infty} \prod_{j=1}^n \left(I - \frac{t-s}{n} A(s + j \frac{t-s}{n}) \right)^{-1} x_0^n \equiv U(t, s)x_0 \in \overline{D(A(t))} \quad (1.5)$$

exists and $U(t, s)$ is an evolution operator in the following sense:

- 1°) For each pair (s, t) with $0 \leq s \leq t \leq T$, $U(t, s) : \overline{D(A(s))} \rightarrow \overline{D(A(t))}$; $U(s, s) = I$
- 2°) $U(t, s)U(s, r) = U(t, r)$, for every $0 \leq r \leq s \leq t \leq T$
- 3°) The function $(t, s, x) \rightarrow U(t, s)x$ is continuous.

In our case here, the dissipativity of $A(t)$ implies the nonexpansivity of $x \rightarrow U(t, s)x$; i.e.,

$$4°) \quad \|U(t, s)x - U(t, s)y\| \leq \|x - y\|, \quad 0 \leq s < t, \quad x, y \in \overline{D(A(s))}.$$

The importance of $U(t, s)$ consists in the fact that the function $u(t) = U(t, s)x_0$ is the unique integral solution to the problem (1.4) ([5]). Moreover, if u is differentiable at t , then $U(t, s)x_0 \in D(A(t))$ and $\frac{d}{dt}U(t, s)x_0 \in A(t)U(t, s)x_0$, i.e., if $t \rightarrow U(t, s)$ is a.e. differentiable, then (1.4) is satisfied a.e. on $[0, T]$.

$U(t, s)$ is said to be compact (with $0 \leq s < t \leq T$) if it maps bounded subsets of $\overline{D(A(s))}$ into precompact sets of $\overline{D(A(t))}$.

The generators $\{A(t); 0 \leq t \leq T\}$ of compact evolution operators (via (1.5)) are important in the study of perturbed differential equation

$$u'(t) \in A(t)u(t) + F(t, u(t)), \quad u(s) = x_0 \in \overline{D(A(s))} \quad (1.6)$$

where the function $(t, u) \rightarrow F(t, u)$ (with $u \in \overline{D(A(t))}$) is merely continuous and the domain of $F(t, \cdot)$ is $\overline{D(A(t))}$ (see [7, Ch.3] and [8]). We can define the notion of “evolution operator” independently of its generators $\{A(t)\}$, i.e., without Formula (1.5), as follows:

Let $\{D(t); 0 \leq t \leq T\}$ be a family of nonempty subsets of X . $U(t, s)$ is said to be an evolution operator with respect to $\{D(t)\}$ if Properties 1^o) – 3^o) holds with $D(t)$ in place of $\overline{D(A(t))}$ for each $t \in [0, T]$.

In order to arrive at the definition of integral solution to (1.4), let us suppose that u is a strong solution of the Cauchy problem (1.4) (i.e. $t \rightarrow u(t)$ is absolutely continuous on $[s, T]$, almost everywhere differentiable, $u(t) \in \overline{D(A(t))}$ and (1.4) is almost everywhere satisfied). Take an arbitrary $r \in [s, T]$,

$x \in D(A(r))$ and $y \in A(r)x$ (in short, $[x, y] \in A(r)$). There exists $x^* \in J(u(t) - x)$ such that

$$x^*(u'(t) - y) = \langle u'(t) - y, u(t) - x \rangle_i. \tag{1.7}$$

On the other hand (see e.g. [6], p.16),

$$x^*(u'(t)) = x^*(u(t) - x)' = \|u(t) - x\| \frac{d}{dt} \|u(t) - x\|, \text{ a.e. on } [s, T] \tag{1.7}'$$

On the basis of (1.7), (1.7)' and C(2), from (1.4) we derive

$$\begin{aligned} \|u(t) - x\| \frac{d}{dt} \|u(t) - x\| &= x^*(A(t)u(t)) = x^*(A(t)u(t) - y) + x^*(y) \leq \\ \|f(t) - f(r)\| \|u(t) - x\| L(\max\{\|u(t)\|, \|x\|\}) &+ \langle y, u(t) - x \rangle_{\bar{s}}, \text{ a.e. on } [s, T] \end{aligned} \tag{1.8}$$

We may assume that

$$L(\max\{\|u(t)\|, \|x\|\}) \leq L(\max\{\sup_t \|u(t)\|, \|x\|\}) = C(\|x\|, \|x_0\|, s) \tag{1.8}'$$

and that C is bounded on bounded subsets containing x and x_0 . Therefore, dividing the inequality (1.8) by $\|u(t) - x\|$ and then integrating over $[h, t]$ we get

$$\|u(t) - x\| \leq \|u(h) - x\| + \int_h^t (\langle y, u(\tau) - x \rangle_+ + C(\|x\|, \|x_0\|) \|f(\tau) - f(r)\|) d\tau \tag{1.9}$$

for all $0 \leq s \leq h \leq t \leq T$, $r \in [s, T]$ and $[x, y] \in A(r)$, with C as in (1.8)'.

It is now reasonable to give

Definition 1.1. A function $u : [s, T] \rightarrow X$ is said to be an integral solution to the problem (1.4) if:

- 1) u is continuous on $[s, T]$,
- 2) $u(s) = x_0$, $u(t) \in \overline{D(A(t))}$ and
- 3) u satisfies the inequality (1.9) with $C(\|x\|, \|x_0\|, s)$ as defined by (1.8)'.

Definition 1.1 was first given in [5]. In the case $A(t) = A$ - independent of t , it is just the notion of integral solution in the sense of Benilan [1]. The fact that $u(t) = U(t, s)x_0$ given by (1.5) is the unique integral solution to (1.4) is proved in [5] and [7].

Since (C1) and (C2) imply the closure of $D(A(t))$ independent of t , set

$$\overline{D(A(t))} = \overline{D(A(0))} = \overline{D}, \quad t \in [0, T].$$

We are now in a position to state the main result of this paper.

Theorem 1.1. *Suppose that (C1)–(C3) are fulfilled. Let $U(t, s)$ be the evolution operator generated by $\{A(t)\}$ via the formula (1.5). Then $U(t, s)$ is compact (for every $0 \leq s < t \leq T$) if and only if the following two conditions below hold:*

- (I) *For each $s \in [0, T]$ and $\lambda > 0$ the operator $J_\lambda(s) = (I - \lambda A(s))^{-1}$ from X into $D(A(s))$ is compact.*
- (II) *For each $t_0 \in]s, T]$, the functions $\{t \rightarrow U(t, s)x, x \in Y\}$ are equicontinuous at t_0 on bounded subsets $Y \subset \overline{D(A(s))}$, i.e., for every $\varepsilon > 0$, there exists $\delta = \delta(\varepsilon, t_0, s, Y) > 0$ such that $\|U(t, s)y - U(t_0, s)y\| < \varepsilon, \forall t \in [t_0 - \delta, t_0 + \delta], y \in Y$.*

In short, in place of (II) we shall say “ $U(t, s)$ is equicontinuous at $t_0 > s$, on bounded subsets of $\overline{D(A(s))}$ ”. Condition $t_0 > s$ is essential (in (II)). In the autonomous case $A(t) = A$, independent of t , Theorem 1.1 reduces to

Theorem Brezis’. ([2] or [7, p.89]). *Let $S(t)$ be the semigroup generated by A via the exponential formula of Crandall-Liggett. Then $S(t)$ is compact for every $t > 0$ if and only if*

- 1⁰) *$(I - A)^{-1}$ is compact and*
- 2⁰) *for every bounded subset Y of $\overline{D(A)}$, the functions $\{t \rightarrow S(t)x, x \in Y\}$ are equicontinuous at every $t_0 > 0$.*

In the proof of (sufficiency part) of Theorem 1.1, the result below is needed

Lemma 1.1. *Suppose that the hypotheses of Theorem 1.1 are fulfilled. Then,*

$$\begin{aligned} \|J_\lambda(s)x - x\| &\leq \frac{2}{t-s} \int_s^t \|U(\tau, s)s - s\| d\tau + \frac{\lambda}{t-s} \|U(t, s)x - x\| \\ &\quad + \frac{\lambda C(\|x\|)}{t-s} \int_s^t \|f(\tau) - f(s)\| d\tau \end{aligned} \quad (1.10)$$

for all $\lambda > 0, 0 \leq s \leq t \leq T, x \in \overline{D}$, where $C = C(\|x\|, s)$ is bounded on x -bounded sets.

2. Proof of the results. The property of $U(t, s)$ which plays an essential role in (1.10) is that $t \rightarrow U(t, s)x_0$ is the (unique) integral solution to (1.4), i.e., (1.9) holds with $u(t) = U(t, s)x_0$ [5], [7]. Therefore, with $r = s$, (1.9) yields

$$\|U(t, s)x_0 - x\| \leq \|x_0 - x\| + \int_s^t (\langle y, U(\tau, s)x_0 - x \rangle_+ + C\|f(\tau) - f(s)\|) d\tau \quad (2.1)$$

for all $x \in D(A(s)), y \in A(s)x$ and $x_0 \in \overline{D}$, with $C = C(\|x\|, \|x_0\|, s)$ bounded on bounded x -subsets.

Proof of Lemma 1.1: We first recall that

$$\langle y, U(t, s)x_0 - x \rangle_+ \leq \lambda^{-1} (\|U(t, s)x_0 - x + \lambda y\| - \|U(t, s)x_0 - x\|), \lambda > 0$$

Replacing in (2.1) x by $J_\lambda(s)x_0$ and $y = A_\lambda(s)x_0 \in AJ_\lambda(s)x_0$ and taking into account $J_\lambda(s)x_0 - \lambda A_\lambda(s)x_0 = x_0$, one obtains

$$\begin{aligned} \|U(t, s)x_0 - J_\lambda(s)x_0\| &\leq \|J_\lambda(s)x_0 - x_0\| + \overline{C}(\|J_\lambda(s)x_0\|) \int_s^t \|f(\tau) - f(s)\| d\tau \\ &\quad + \int_s^t \lambda^{-1} (\|U(\tau, s)x_0 - x_0\| - \|U(\tau, s)x_0 - J_\lambda(s)x_0\|) d\tau, \end{aligned} \quad (2.2)$$

with $\overline{C}(\|x\|) = C(\|x\|, \|x_0\|, s)$

It is now an elementary exercise to check that (2.2), along with

$$\|J_\lambda(s)x_0 - x_0\| \leq \|J_\lambda(s)x_0 - U(t, s)x_0\| + \|U(t, s)x_0 - x_0\|$$

lead us to (1.10). The fact that \overline{C} in (2.2) implies the existence of a C as required in (1.10) follows from the inequality

$$\begin{aligned} \|J_\lambda(s)x_0\| &\leq \|J_\lambda(s)x_0 - J_\lambda(s)\tilde{x}_0\| + \|J_\lambda(s)\tilde{x}_0 - \tilde{x}_0\| + \|\tilde{x}_0\| \\ &\leq \|x_0 - \tilde{x}_0\| + \|\tilde{x}_0\| + \lambda|A(s)\tilde{x}_0|, \end{aligned}$$

where $\tilde{x}_0 \in \overline{D(A(s))}$ and $|A(s)\tilde{x}_0| = \inf\{\|z\|, z \in A(s)x_0\}$. This completes the proof. ■

The result given below is independent of the generators of $U(t, s)$.

Proposition 2.1. *Let $U(t, s)$ be an evolution operator with respect to the family $\{D(t), 0 \leq t \leq T\}$ in the sense above. If $U(t, s)$ is compact from $D(s)$ into $D(t)$ (for every $0 \leq s < t \leq T$), then $U(t, s)$ is equicontinuous at every $t_0 \in [s, T]$ on bounded subsets of $D(s)$ in the sense of Condition (II) in Theorem 1.1.*

Proof: Let $\varepsilon > 0$, $s < t_0 \leq T$ and let Y be a bounded subset of $D(s)$. If $s < \bar{t} < t_0$, then by hypothesis $U(\bar{t}, s)Y$ is a precompact subset of $D(\bar{t})$. Since $(t, z) \rightarrow U(t, \bar{t})z$ is continuous on $[\bar{t}, T] \times \overline{U(\bar{t}, s)Y}$, it is uniformly continuous on this set, so there is $\delta = \delta(\varepsilon, t, s, Y) > 0$ such that

$$\|U(t, \bar{t})z - U(t_0, \bar{t})z\| < \varepsilon, \quad |t - t_0| < \delta, \quad z \in U(\bar{t}, s)Y \quad (2.3)$$

Clearly, $z = U(\bar{t}, s)y$ with $y \in Y$ and $U(t, \bar{t})U(\bar{t}, s)y = U(t, s)y$ for $s < \bar{t} < t \leq T$ and thus the proof is complete. ■

In what follows, the following elementary (classical) result is needed:

Lemma 2.1. *Let K be a nonempty subset of the Banach space X . If, for every $\varepsilon > 0$, there is a precompact subset K_ε with the property that for each $x \in K$ there is $x_\varepsilon \in K_\varepsilon$ such that $\|x - x_\varepsilon\| < \varepsilon$, then K is precompact.*

Proposition 2.2. *Let $U(t, s)$ be as indicated by Theorem 1.1. If $U(t, s)$ is compact (for every $0 \leq s < t \leq T$), then for every $s \in [0, T]$ and $\lambda > 0$, $J_\lambda(s) = (I - \lambda A(s))^{-1} : X \rightarrow D(A(s))$ is compact.*

Proof: The key to the proof is the following relationship between $U(t, s)$ and its generators $A(t)$ (cf. [7], Prop. 5.2, Ch.1)

$$\|U(t, s)x - x\| \leq (t - s)(\|z\| + M(\|x\|, s)), \quad x \in D(A(s)), \quad z \in A(s)x \quad (2.4)$$

with $x \rightarrow M(\|x\|, s)$ bounded on bounded subsets of $D(A(s))$.

Now let Y be a bounded subset of X . Then, $J_\lambda(s)Y$ is a bounded subset of $D(A(s))$ (this is because $y \rightarrow J_\lambda(s)y$ is Lipschitz continuous with Lipschitz constant 1). Substituting $x = J_\lambda(s)y$ and $z = A_\lambda(s)y \in A(s)J_\lambda(s)y$ in (2.4), we get

$$\|U(t, s)J_\lambda(s)y - J_\lambda(s)y\| \leq (t - s)(\|A_\lambda(s)y\| + M(\|J_\lambda(s)y\|, s)), \quad \forall y \in Y. \quad (2.5)$$

Let ε be an arbitrary positive number. Since $A_\lambda(s)y = \lambda^{-1}(J_\lambda(s)y - y)$ is also bounded with respect to $y \in Y$, it follows from (2.5) that there is a $d = d(\varepsilon, \lambda, s, Y) \equiv d(\varepsilon) > 0$, such that

$$\|U(s + d, s)J_\lambda(s)y - J_\lambda(s)y\| \leq \varepsilon, \quad \forall y \in Y. \quad (2.6)$$

Finally, the precompactness of $K_\varepsilon = U(s + d(\varepsilon), s)J_\lambda(s)Y$, Lemma 2.1 and inequality (2.6) lead to the precompactness of $J_\lambda(s)Y$. ■

Proof of Theorem 1.1 (Sufficiency part). It has remained to prove that Conditions (I) and (II) imply the compactness of $U(t, s)$. Therefore, let $0 \leq r < s < t \leq T$ and let Y be a bounded subset of \bar{D} . We will prove that $U(s, r)Y$ is precompact. To this goal, replace x in (1.10) by $U(s, r)y$ with $y \in Y$. Thus, for all $t \in [s, T]$ we have

$$\begin{aligned} \|J_\lambda(s)U(s, r)y - U(s, r)y\| &\leq \frac{2}{t-s} \int_s^t \|U(\tau, r)y - U(s, r)y\| d\tau \\ &+ \frac{\lambda}{t-s} \|U(t, r)y - U(s, r)y\| + \frac{\lambda C}{t-s} \int_s^t \|f(\tau) - f(s)\| d\tau, \quad y \in Y \end{aligned} \quad (2.7)$$

where $C = C(s, r, Y) > 0$ can be chosen independent of $y \in Y$.

On the basis of Condition(II), for every $\varepsilon > 0$, there is $\delta = \delta(\varepsilon, s, r, Y) > 0$ such that

$$\|U(\tau, r)y - U(s, r)y\| < \varepsilon \quad \text{for all } \tau \in [r, T] \text{ with } |\tau - s| < \delta \text{ and } y \in Y. \quad (2.8)$$

Combining (2.7) and (2.8), we conclude that there exists $\lambda_\varepsilon = \lambda(\varepsilon, r, s, Y)$ such that

$$\|J_{\lambda_\varepsilon}(s)U(s, r)y - U(s, r)y\| \leq M\varepsilon \quad (2.9)$$

where M is a constant independent of $y \in Y$. According to Lemma 2.1 with $K = U(s, r)Y$ and $K_\varepsilon = J_{\lambda_\varepsilon}(s)U(s, r)Y$, we get the precompactness of $U(s, r)$. ■

REFERENCES

- [1] P. Benilan, *Solutions intégrales d'évolution dans un espace de Banach*, C.R. Acad. Sci., Paris, 274 (1972), 47-50.
- [2] H. Brezis, *New results concerning monotone operators and nonlinear semigroups*, Proc. of RIMS on "Analysis of nonlinear problems", Kyoto University, 1975.
- [3] M.G. Crandall and T.M. Liggett, *Generation of semigroups of nonlinear transformations on general Banach spaces*, Amer. J. Math., 93 (1971), 265-298.
- [4] S. Oharu and T. Takahashi, *On nonlinear evolution operators associated with some nonlinear dispersive systems*, Proc. Amer. Math. Soc., 97 (1986), 139-145.
- [5] N.H. Pavel, *Nonlinear evolution equations governed by f quasi dissipative operators*, Nonlinear Anal., TMA., 5(1981), 449-468.
- [6] N.H. Pavel, "Differential Equations, Flow-invariance and Applications", Pitman Research Notes in Math., 113 (1984), London-Boston-Melbourne.
- [7] N.H. Pavel, "Nonlinear Evolution Operators and Semigroups: Applications to PDE", Lecture Notes in Math., Springer-Verlag, 1260 (1987).
- [8] N.H. Pavel, *Evolution equations associated with compact evolution operators generators*, Differential and Integral Equations, 1 (1988), 117-123.